1082416 5 — BRI U B U

B= 31,600

(—)EH a2 28,955
(R AREC

LERES 800

2 SAHMEE 870

IREEH 100

4 [ERSFR E 175

5.2 Rl Fe 4 700

B IE & B THIEUR 108.05.1
B T EGR(C)F5E10805122455%

10855 5 — BRI B R

B 31,800

(—) B A 28,955
(UK

LERIESE 900

2 SHARHME S 970

IREELH 100

4. B G P OR bR E 175

5.2 R{EH fe e E 700

WEAZAEMRIE B e THEURF 108.05.1
B 2R () 755 10805122455%

1085 FEE 5 — ISR B U

B— 33,000
(—) B i 28,955
()RR
LEREE 1,850
2 SHARHMESE 1,220
IREGH 100
4. E G PRI E 175
5.2 R S 4 700




WCERAZAE R IE 5 R TH U 108.05.1
B T EGER(C)FEE10805122455%



108E2AE 55— BTt i Ui

10824 T 5 — R U
=g 31,700
()ETEE 23,484
()& 4,510
(UK

1LEBRIEERE 1,400
2SHEAREMEE 1,331
3EXEEE 100
4. HiS LR E 175
5.4 A R dE 700
SR ESE 29,169 JT
=_ttgd 32,400
()ETEE 23,484
(C)5EZE 4,510
(R HEER
LEBRIEERE 2,300
2SHEAREMEE 1,131
3EETE 100
A [F S LRk e 175
5.2 A A e 4 e 700

WMEEF A ESEE| 29,169 JT

=HRE 32,200
()= TEE 23,484
(i ¢ 4,510
E)EEHERE 390
()R Rk

LERIEEED 1,700

2SWABIMEE 1,141

3XEHE 100

4l?$§ﬁ@% 175

2 R R Y 700
MESHAESE 29,559 JT
E_EARE 33,200
()= TEE 23,484
() E 4,510
E)EEERE 390
() AR R

LRI EERED 2,800

2SWABIMEE 1,041

3FEEGE 100

4l?$%ﬁ@% 175

5.4 A K 4 s 700
MESAESE 29,559 JT
= 34,200
(o)E e 23,484
C)E—E 4,510
E)EEERE 110
(o) E RS HE 400
(AU R

LRI EEEE 3,100

2SWABIMEE 1,221

3FEEGE 100

4 B PR e 175

5.2 R H R 4EEE 700

6. e E 400

MESHAEEE 20679 JC

#2702 TRV A%ET i

@%h%iﬁﬁﬁﬁﬁf

R TRV .

EE ¢ PoJd hB Y EER

B R AyEE 25 00E % 198 %2
¢

2. TR ogz i g

pagd
<l
=

2 P

F e

.:u
P
g3

1

R

s
I

M
)3,» ,

~

NS |

4 9

==
\

|

sk
.

21 >
.,
FXETET

R

. d

v

T it R0 i
£ R RINF % 108007878345 =

4 FHERINF % 10800797905 5y




1088 # R 5 15 R yc iy * (i

7 P EX1d s
&A% et i
w3 3N By B3 7
KA = pRe 642 1246
KA B = ALEE 1062 1486
Eog B - pREe 2443 2701
Hoftd - Abg 1712 22173
w3 %~ 3159 3724
it d 7 = 361 573
FofLd - 755 817
w3 B - 970 1741
7L % 100 dat kv hAT [108.5.13
%‘aii—?fﬁr"ﬁ '/f"‘?"lﬂ’é‘?x‘p‘&A = Jo e B TR
. 175 %?:#i[é#r“f B 4 % 4¢84 80
L E % 700 i B FCF R T
2 g T R g R AR T (Ut
OETEL s0msmw [3atrsegideg
REWEF ¢ 1800~ o Al
REWER % ¢ 1800~ liﬂ?f%“?*ﬂﬁg’f{ﬁ
B4 Fai 240~ / 5 A L S R




1082 F 55— B2 BRAIER

Ny 20 3E # 8 W A4 * 3 T > Ayt ke ok k=S
€S 21431 0 197, 600 197, 600 0
T Fe R 21431 0 342, 825 342, 825 0
AFRry 21434 0 1, 383, 200 1, 284, 939 98, 261
k8P 2144 0 11, 980, 695 4,694, 140 7, 286, 999
RSP 2145 0 7,509, 540 3, 286, 880 4, 222, 660
K3 7 21431 0 4, 099, 238 4, 039, 238 0
DERE S 21436 0 1, 279, 200 1, 279, 200 0
F- ®*RE 21436 0 187, 200 187, 200 0




